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AREA OF PARALLELOGRAMS AND TRIANGLES

1. ABCD is a quadrilateral and BD is one of its diagonals as

shown in the figure. Prove that ABCD is a parallelogram


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PlA3RHfvDjEw

and find its area.

4 cm C

o Watch Video Solution

2. Show that the line segments joining the mid-points of

opposite sides of a quadrilateral bisect each other.

o Watch Video Solution



https://dl.doubtnut.com/l/_PlA3RHfvDjEw
https://dl.doubtnut.com/l/_C3kXnlilmEw9

3. Prove that, of all the parallelograms of given sides, the

parallelogram, which is recatangle has the greatest area.

° Watch Video Solution

4. Show that a median of a triangle divides it into two

triangles of equal areas.

o Watch Video Solution

5. Show that the diagonals of a parallelogram divide it

into four triangles of equal area.


https://dl.doubtnut.com/l/_w0kwG4Yi2pet
https://dl.doubtnut.com/l/_9kuTSmwh2LKS
https://dl.doubtnut.com/l/_ru3YVLbRBehl
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o Watch Video Solution

6. If each diagonal of a quadrilateral separated it into two
triangles of equal area, then show that quadrilateral is a

parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_ru3YVLbRBehl
https://dl.doubtnut.com/l/_LL7M6uiGeWDz

7. Prove that the are of the rhombus is half the product of

the lengths of its diagonals.

° Watch Video Solution

8.1In a quadrilateral ABCD, AO and BO are bisectors of /A

and angle B respectively. Prove that

1
LAOB = =(£C + £D)

o Watch Video Solution

9. In the figure. It is given that AD||BC. Proe that are

ar( A COD) = ar( A ABO)


https://dl.doubtnut.com/l/_VlxKo5DAp0nv
https://dl.doubtnut.com/l/_kOMTjWTQdbQH
https://dl.doubtnut.com/l/_udiM4htN7Uf8
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o Watch Video Solution

10. D, E and F are respectively the mid-points of the sides
BC, CA and AB of a /A ABC. Show that:- BDEF is a

parallelogram.

° Watch Video Solution

11. DE and F are mid-points of the sides BC, CA and AB

respectively of A ABC. Prove that


https://dl.doubtnut.com/l/_udiM4htN7Uf8
https://dl.doubtnut.com/l/_9k0BMLyRWgGf
https://dl.doubtnut.com/l/_vu1o0C3RIDRF

1
ar( A DEF) = Za’r( A ABC)

o Watch Video Solution

12. DE and F are mid-points of the sides BC, CA and AB
respectively of A ABC. Prove that

1
ar( | | gmBDEF) = Ea'r( A ABC)

o Watch Video Solution

13. In the figure. ABCD is a parallelogram and O is any

point on BC . Prove that


https://dl.doubtnut.com/l/_vu1o0C3RIDRF
https://dl.doubtnut.com/l/_gInfe1p07M98
https://dl.doubtnut.com/l/_DdDoIk0QrCh8

ar( A ABO) + ar( A DOC) = ar( A ODA)

C

............... I

o Watch Video Solution

14. Triangle ABC and DBC are on the same base BC with AD
on opposite sides of line BC, such that

ar( A ABC) = ar( A DBC).Prove that BC bisects AD.

o Watch Video Solution



https://dl.doubtnut.com/l/_DdDoIk0QrCh8
https://dl.doubtnut.com/l/_ld8yABnjBAwN
https://dl.doubtnut.com/l/_sIWRp4I8yYCU

15. ABCD is trapezium in which AB||DC . DC is produced to E
such that CE = AB, prove that

ar( A ABD) = ar( A BCE)

° Watch Video Solution

3
16. Prove that the area of an equilateral triangle ——a?,

4

where 'a' is the side of te triangle.

o Watch Video Solution

17. In the quadrilateral ABCD, it is given that L is the mid-
point of AC. Prove that

arc(qud. ABLD) = ar( . DLBC)



https://dl.doubtnut.com/l/_sIWRp4I8yYCU
https://dl.doubtnut.com/l/_lCl7HJSE0RaK
https://dl.doubtnut.com/l/_ouuUFQyMRqcj

I ° Watch Video Solution

18. P and Q are any two points lying on the sides DC and
AD respectively of a parallelogram ABCD. Show that ar

(APB) = ar (BQC).

o Watch Video Solution

19. ABCD is a parallelogram and a line through A meets DC
at P and BC (produced) at Q. Prove that

ar( A BPC) = ar( A DPQ)

o Watch Video Solution



https://dl.doubtnut.com/l/_ouuUFQyMRqcj
https://dl.doubtnut.com/l/_el3BNsDamB2H
https://dl.doubtnut.com/l/_43OcNF1HPI4h

20. ABC is a triangle in which D is the mid-point of BC and
E is the mid-point of AD. Prove that:

1
ar( A BED) = Zar( A ABC)

° Watch Video Solution

21. ABCD is parallelogram. X and Y are the mid-points of BC

3
and CD respectively. Prove that ar (AAXY) = g

(| |)*™ABCD.



https://dl.doubtnut.com/l/_NHXdLmhMySFQ
https://dl.doubtnut.com/l/_19U0l8MkEKVN

o Watch Video Solution

22.P,Q,R and S are the mid-poins of the sides AB,BC,CD and
DA respectively of quad. ABCD. Show that PQRS is a

parallelogram such that

1
ar( | | gmPQRS) = Ear( . ABCD)

o Watch Video Solution

23. Which of the following figures lie on the same base

and between the same parallels. Insuch a case, write the


https://dl.doubtnut.com/l/_19U0l8MkEKVN
https://dl.doubtnut.com/l/_f9i3hT5styC0
https://dl.doubtnut.com/l/_bj3xVUns3Jhe

common base and the two parallels.

parall®™
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o Watch Video Solution

24. ABCD is a parallelogram, AE | DC and CF 1 AD. If

AB =16 cm, AE = 8 cm and CF =10 cm, find AD.

° Watch Video Solution



https://dl.doubtnut.com/l/_bj3xVUns3Jhe
https://dl.doubtnut.com/l/_DohLcLQ1fN5M

25.If E, F, G and H are respectively the mid-points of the

1
sides of a parallelogram ABCD, show that ar(EFGH) = 3

ar(ABCD).

° Watch Video Solution

26. P and Q are any two points lying on the sides DC and
AD respectively of a parallelogram ABCD. Show that ar

(APB) = ar (BQC).

o Watch Video Solution



https://dl.doubtnut.com/l/_DohLcLQ1fN5M
https://dl.doubtnut.com/l/_rgRPkAax97IA
https://dl.doubtnut.com/l/_VVLDZsdogKIt

27.1n Fig.
e, Pis a point in the interior of a parallelogram ABCD.

1
Show that ar(APB) + ar(PCD) = Ear(ABCD).

° Watch Video Solution

28.In Fig.
e, P is a point in the interior of a parallelogram ABCD.
Show that

ar(APD) + ar(PBC) = ar(APB) + ar(PCD).

o Watch Video Solution



https://dl.doubtnut.com/l/_AMYtdR6NNMv2
https://dl.doubtnut.com/l/_qGIOmON3Y0Jt

29.In fig.
L= PQRS and ABRS are parallelograms and X is any point

on side BR. Show that ar(PQRS) = ar(ABRS).

o Watch Video Solution

30.In fig.
le. PQRS and ABRS are parallelograms and X is any point

1
on side BR. Show that ar(AXS) = Ear(PQRS).

o Watch Video Solution

31. A farmer was having a field in the form of a

parallelogram PQRS. She took any point A on RS and


https://dl.doubtnut.com/l/_dS6X3blWCYb3
https://dl.doubtnut.com/l/_JuE1f4hcjcp4
https://dl.doubtnut.com/l/_UR2FjOm918i6

joined it to points P and Q.In how many parts the field is
divided ? What are the shapes of these parts ? The farmer
wants to sow wheat and pulses in equal portions of the

field separately. How should she do it ?

o Watch Video Solution

32.E is any point on median AD of a A ABC' . Show that

ar (ABE) = ar (ACE).

o Watch Video Solution

33.ABC is a triangle in which D is the mid-point of BC and
E is the mid-point of AD. Prove that:

1
ar( A BED) = Zar( A ABC)


https://dl.doubtnut.com/l/_UR2FjOm918i6
https://dl.doubtnut.com/l/_Enwo51nqW2A4
https://dl.doubtnut.com/l/_6OjOE8rb65Nr

o Watch Video Solution

34. A diagonal of parallelogram divides it into four

triangles of equal area.

0 Watch Video Solution

35.D, E and F are respectively the mid-points of the sides
BC, CA and AB of a A ABC. Show that:- BDEF is a

parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_6OjOE8rb65Nr
https://dl.doubtnut.com/l/_0rQSQTqrThhs
https://dl.doubtnut.com/l/_yI3spE9qYzs5

36. If D, E, f are the mid-point of the sides of triangle ABC,

1
prove that: ar( A DEF) = Zar( A ABC).

o Watch Video Solution

37.D, E and F are respectively the mid-points of the sides
BC, CA and AB of a A ABC. Show that:- BDEF is a

parallelogram.

o Watch Video Solution

38. Diagonals AC and BD of a quadrilateral ABCD intersect
at O in such a way that ar (AOD) = ar (BOC). Prove that

ABCD is a trapezium.



https://dl.doubtnut.com/l/_vYu78YeDpgB0
https://dl.doubtnut.com/l/_Ux4gPuIDDZOR
https://dl.doubtnut.com/l/_IVNk0h4xTaKq

o Watch Video Solution

39. Diagonals AC and BD of quadrilateral ABCD interset at
O such that OB = OD , If AB = Cd, then show that :

ar(DCB) = ar(ACB)

° Watch Video Solution

40. Diagonals AC and BD of a quadrilateral ABCD intersect
at O in such a way that ar (AOD) = ar (BOC). Prove that

ABCD is a trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_IVNk0h4xTaKq
https://dl.doubtnut.com/l/_JlQapECR27Nd
https://dl.doubtnut.com/l/_VLUmhkhkwsWB

41.D and E are points on sides AB and AC respectively of

AABC such that ar (DBC) = ar (EBC). Prove that DEIIBC

o Watch Video Solution

42. XY is a line parallel to side BC of triangle ABC. If
BEITAC and CFIIAB meet XY at E and F

respectivelyshow that ar (ABE) = ar (ACF).

o Watch Video Solution

43. The sides AB of parallelogram ABCD produced to any

point P. A line through A and parallel to CP meets CB


https://dl.doubtnut.com/l/_bCAtNwNWxwId
https://dl.doubtnut.com/l/_4AIYqQ0IBy1T
https://dl.doubtnut.com/l/_hRXqpYfZXw8c

produced at Q and the parallelogram PBQR is completed

D ¢ -

ar(ABCD) = ar(PBQR)

o Watch Video Solution

44, In the figure. ABCD in a trapezium in which AB||DC.

Proe that ar( A AOD) = ar( A BOC)


https://dl.doubtnut.com/l/_hRXqpYfZXw8c
https://dl.doubtnut.com/l/_NskBaqHSHcp0

D G

o Watch Video Solution

45.

P A B

D - F

— ABCDE is a

pentagon. A line through B parallel to AC meets DC


https://dl.doubtnut.com/l/_NskBaqHSHcp0
https://dl.doubtnut.com/l/_gAni1STYW8bs

produced at F. Show that:

ar(ACB) = ar(ACF)

° Watch Video Solution

46.

= 2 A B

D C F

- ABCDE is a
pentagon. A line through B parallel to AC meets DC
produced at F. Show that:

ar(AEDF) = ar(ABCDE)



https://dl.doubtnut.com/l/_gAni1STYW8bs
https://dl.doubtnut.com/l/_c8VwwzAan4zU

‘ ° Watch Video Solution

47.ABCD is a trapezium with AB || DC. A line parallel to AC
intersects AB at X and BC at Y. Prove that ar (ADX) = ar

(ACY). [Hint : Join CX.]

o Watch Video Solution

48. AP||BQ||CR. Prove that ar(AQC) = ar(PBR)

A P

| e |


https://dl.doubtnut.com/l/_c8VwwzAan4zU
https://dl.doubtnut.com/l/_cdVmYs52UNsc
https://dl.doubtnut.com/l/_xeirmCXrndwx

- Watch Video Solution I

49. Diagonals AC and BD of a quadrilateral ABCD intersect
at O in such a way that ar (AOD) = ar (BOC). Prove that

ABCD is a trapezium.

° Watch Video Solution

50.
- — e mw ELE YT “ﬂFE’:ﬂlmaq-

A B

R

irmess A TP = P ar(DRC) =



https://dl.doubtnut.com/l/_xeirmCXrndwx
https://dl.doubtnut.com/l/_hTWBKkVsznmx
https://dl.doubtnut.com/l/_7wUeK0IDhypv

ar(DPC) and ar(BDP) ar(ARC). Show that both the

quadrilaterals ABCD and DCPR are trapeziums.

o Watch Video Solution

51. Parallelogram ABCD and rectangle ABEF are on the
same base AB and have equal areas. Show that the
perimeter of the parallelogram is greater than that of the

rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_7wUeK0IDhypv
https://dl.doubtnut.com/l/_kvoiAsXC3JF6

52.

—_ h I3
D i
F

E' a L A ABCD,

DCFE and ABFE are parallelograms. Show that ar(ADE) =

ar(BCF)

° Watch Video Solution

53.ABCD is a parallelogram and BC is produced to a point
Q such that AD = CQ. If AQ intersect DC at P, show that:

ar(BPC) = ar(DPQ)

| o Wiakll. \nNdaa AL ikliam


https://dl.doubtnut.com/l/_bgKETt0Ch31h
https://dl.doubtnut.com/l/_1n8U05Ua8Sog
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54.

e e

ABC and BDE are two equilateral triangles such that D is
the mid-point of BC. If AE interesects BC at F, show that :

1
ar(BDE) = 1 ar(ABC)

o Watch Video Solution



https://dl.doubtnut.com/l/_1n8U05Ua8Sog
https://dl.doubtnut.com/l/_RlTwZrqa5AMY

55.

ABC and BDE are two equilateral triangles such that D is
the mid-point of BC. If AE interesects BC at F, show that :

1
ar(BDE) = Ear(BAE)‘

o Watch Video Solution



https://dl.doubtnut.com/l/_RlTwZrqa5AMY
https://dl.doubtnut.com/l/_JA1qfXHeHu0b

56.

ABC and BDE are two equilateral triangles such that D is
the mid-point of BC. If AE interesects BC at F, show that :

ar(ABC) = 2ar(BEC)

o Watch Video Solution



https://dl.doubtnut.com/l/_JA1qfXHeHu0b
https://dl.doubtnut.com/l/_m26TS2PC0mdZ

57.

ABC and BDE are two equilateral triangles such that D is
the mid-point of BC. If AE interesects BC at F, show that :

ar(BFE) = ar(AFD)

o Watch Video Solution



https://dl.doubtnut.com/l/_hKo8gYI4uZ1d
https://dl.doubtnut.com/l/_6qGE86YaxeiR

58.

e e e

ABC and BDE are two equilateral triangles such that D is
the mid-point of BC. If AE interesects BC at F, show that :

ar(BFE) = 2ar(FED)

o Watch Video Solution



https://dl.doubtnut.com/l/_6qGE86YaxeiR
https://dl.doubtnut.com/l/_dW88DePLkiC5

59.

ABC and BDE are two equilateral triangles such that D is
the mid-point of BC. If AE interesects BC at F, show that :

1
ar(FED) = gar(AFC)

o Watch Video Solution



https://dl.doubtnut.com/l/_dW88DePLkiC5

60. Diagonals AC and BD of quadrilateral ABCD intersect
each other at P. Show that ar (APB) x ar(CPD) = ar

(APD) x ar(BPC).

o Watch Video Solution

61. P and Q are respectively the midpoints of sides AB and
BC or a triangle ABC and R is the mid-point of AP, show

ar(PRQ)=% ar(ARC).

o Watch Video Solution

62. P and Q are respectively the midpoints of sides AB and

BC or a triangle ABC and R is the mid-point of AP, show


https://dl.doubtnut.com/l/_QPFQGO24r1vE
https://dl.doubtnut.com/l/_prirKcUsNMJt
https://dl.doubtnut.com/l/_5Cha23KWd9e2

ar(RQC) = % ar(ABC).

° Watch Video Solution

63. P and Q are respectively the midpoints of sides AB and
BC or a triangle ABC and R is the mid-point of AP, show

ar(PBQ)=ar(ARC).

o Watch Video Solution



https://dl.doubtnut.com/l/_5Cha23KWd9e2
https://dl.doubtnut.com/l/_0bQkY958lj32
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ABC is a
right triangle right angled at A. BCED, ACFG and ABMN are
squares on the sides BC, CA and AB respectively. Line
segent AX | DE meets BC at Y. Show that:

N MBC =~ N ABD

o Watch Video Solution



https://dl.doubtnut.com/l/_LRJX5DHKLtjs
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ABC is a
right triangle right angled at A. BCED, ACFG and ABMN are
squares on the sides BC, CA and AB respectively. Line
segent AX | DE meets BC at Y. Show that:

ar(BYXD) =2ar(MBC)



https://dl.doubtnut.com/l/_LRJX5DHKLtjs
https://dl.doubtnut.com/l/_qO5cKyvIBSPO
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ABC is a
right triangle right angled at A. BCED, ACFG and ABMN are
squares on the sides BC, CA and AB respectively. Line
segent AX | DE meets BC at Y. Show that:

ar(BYXD) = ar(ABMN)


https://dl.doubtnut.com/l/_qO5cKyvIBSPO
https://dl.doubtnut.com/l/_n1MGpCiDc50v

o Watch Video Solution
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ABC is a
right triangle right angled at A. BCED, ACFG and ABMN are

squares on the sides BC, CA and AB respectively. Line


https://dl.doubtnut.com/l/_n1MGpCiDc50v
https://dl.doubtnut.com/l/_B5eGH3jXttdv

segent AX | DE meets BC at Y. Show that:

N FCB=~= AN ACE

° Watch Video Solution
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ABC is a

right triangle right angled at A. BCED, ACFG and ABMN are


https://dl.doubtnut.com/l/_B5eGH3jXttdv
https://dl.doubtnut.com/l/_2gOyWGSaZOF7

squares on the sides BC, CA and AB respectively. Line
segent AX | DE meets BC at Y. Show that:

ar(CYXE) = 2ar(FCB)

° Watch Video Solution
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ABC is a


https://dl.doubtnut.com/l/_2gOyWGSaZOF7
https://dl.doubtnut.com/l/_Cq6jdFCxo92W

right triangle right angled at A. BCED, ACFG and ABMN are
squares on the sides BC, CA and AB respectively. Line
segent AX | DE meets BC at Y. Show that:

ar(CYXE) = ar(ACFQG)

o Watch Video Solution



https://dl.doubtnut.com/l/_Cq6jdFCxo92W
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ABC is a
right triangle right angled at A. BCED, ACFG and ABMN are
squares on the sides BC, CA and AB respectively. Line
segent AX | DE meets BC at Y. Show that:

ar(BCED) = ar(ABMN) + ar (ACFG)

o Watch Video Solution



https://dl.doubtnut.com/l/_Tv1bnalxaRtL

71. ABCD is a parallelogram and X is the mid-point of AB. If

ar (AXCD) = 24em?, then ar (ABC) = 24cm.

o Watch Video Solution

72. PQRS is a rectangle inscribed in a quadrant of a circle
of radius 13 cm. A is any point on PQ. If PS =5 cm, then ar

(PAS) = 30cm?.

° Watch Video Solution

73.PQRS is a parallelogram whose area is 180cm? and A is

any point on the diagonal QS. The area of


https://dl.doubtnut.com/l/_Tv1bnalxaRtL
https://dl.doubtnut.com/l/_YE3Wk8PScTwH
https://dl.doubtnut.com/l/_JpsQjc2AwQiW
https://dl.doubtnut.com/l/_EJ04wd9Z3Fb7

AASR = 90cm?.

° Watch Video Solution

74. ABC and BDE are two equilateral triangles such that D

1
is the mid-point of BC. Then ar (BDE)=Z ar(ABC).

o Watch Video Solution

75.1n the figure

ABCD and


https://dl.doubtnut.com/l/_EJ04wd9Z3Fb7
https://dl.doubtnut.com/l/_jBiteFH8keUz
https://dl.doubtnut.com/l/_cjGebMh6K2Sc

EFGD are two parallelograms and G is the mid-point of CD.

1
Then ar(DPC) = 3 ar(EFGD)

° Watch Video Solution

76. In the figure
P Q 3 =

A B -

parallelogram. Points Q and R are taken on PS such that
PQ = QR = RS and PA||QB|J[RC. Prove that:

ar( A PQE) = ar( A CFD)

° Watch Video Solution



https://dl.doubtnut.com/l/_cjGebMh6K2Sc
https://dl.doubtnut.com/l/_ygVg0eFNkRJI

77. X and Y are points on the side LN of the triangle LMN
such that LX = XY = YN. Through X, a line is drwan parallel

to LM to meet MN at Z. Prove that are (LZY) = ar(MZYX)

o Watch Video Solution

78. The area of the parallelogram ABCD is 90cm?

£ D E C

A

Find ar(ABEF)


https://dl.doubtnut.com/l/_ygVg0eFNkRJI
https://dl.doubtnut.com/l/_bpUuZCP6qdkJ
https://dl.doubtnut.com/l/_wi5j29zbmtQK

o Watch Video Solution

79. The area of the parallelogram ABCD is 90cm?

F [ E C

A

Find ar(ABD)

° Watch Video Solution



https://dl.doubtnut.com/l/_wi5j29zbmtQK
https://dl.doubtnut.com/l/_MM9MUPbnrNNY

80. The area of the parallelogram ABCD is 90cm?

¥ D E C

A

Find ar(BEF)

o Watch Video Solution

81.In A ABC, D is the mid-point of AB and P is point on

BC. If CQ||PD meets AB in Q then prove that :


https://dl.doubtnut.com/l/_ft2FQ4Kp4CRy
https://dl.doubtnut.com/l/_kKkllAasD5Vl

o Watch Video Solution

82. ABCD is a squre. E and F are respectivley the mid-points

of BC and CD. If R is the mid-points of EF. Prove that ar


https://dl.doubtnut.com/l/_kKkllAasD5Vl
https://dl.doubtnut.com/l/_tI1ysPziXQIt

(AER) = ar(AFR).

—— A A RN

A D

F

B C
E

o Watch Video Solution

8. O is any point on the diagonal PR of a parallelogram

PORS. Prove that : ar(PSO) = ar(PQO)


https://dl.doubtnut.com/l/_tI1ysPziXQIt
https://dl.doubtnut.com/l/_SjELpDDcDHYI

° Watch Video Solution

84. ABCD is a parallelogram in which BC is produced to E

such that CE =BC.


https://dl.doubtnut.com/l/_SjELpDDcDHYI
https://dl.doubtnut.com/l/_lKMKMBk45SyX

AE

intersects CD at F. If ar(DFB) = 3em?, find the area of the

parallelogram ABCD.

o Watch Video Solution

85. In trapezium ABCD, AB ||DC and L is the mid-point of BC.

Through AL, a line PQ||AD has been drawn which meets AB

at P and DC produced to Q. Prove that : ar(ABCD) =


https://dl.doubtnut.com/l/_lKMKMBk45SyX
https://dl.doubtnut.com/l/_Au2oT5WV2W9N

ar(APQD)
D cC Q
/ X
A F B

o Watch Video Solution

86. If the mid-point of the sides of a quadrilateral are
joined in order, prove that the area of the parallelogram
so formed will be half of the area of the given

quadrilateral.

° Watch Video Solution



https://dl.doubtnut.com/l/_Au2oT5WV2W9N
https://dl.doubtnut.com/l/_aoXiY015DLaS
https://dl.doubtnut.com/l/_6lKdGSH8iUZh

87. A point is taken on the side BC of a parallelogram
ABCD. AE and DC are produced to meet at F. Prove that :

ar(ADF) = ar(ABFC)

o Watch Video Solution

88. The diagonals of a parallelogram ABCD intersect at a
point O. Through O, a line is drawn to intersect AD at P
and BC to Q. show that PQ divides the parallelogram into

two parts of equal area.

D

o Watch Video Solution



https://dl.doubtnut.com/l/_6lKdGSH8iUZh
https://dl.doubtnut.com/l/_Lq9cJnIHodRS

89. The medians BE and CF of a triangle ABC interesct at G.
Prove that the area of /A GBC= area of the quadrilateral

AFGE.

o Watch Video Solution

90. In the figure

E  CD||AE and

CYA||BA. Prove that : ar(CBX) = ar(AXY)

o Watch Video Solution



https://dl.doubtnut.com/l/_Lq9cJnIHodRS
https://dl.doubtnut.com/l/_jzw4uBg4JtLP
https://dl.doubtnut.com/l/_yiAlnAc8abwl

91. ABCD is a trapezium in which AB||DC, DC = 30 cm and AB

=50 cm. If X and Y are, respectivley that mid-points of AD

and BC, prove that ar(DCY X) = gar(XYBA)

o Watch Video Solution

92. In A ABC, if L and M are the points on AB AC,
respectivley such that LM||BC. Prove that ar(LOB) =

ar(MOCQ)

o Watch Video Solution



https://dl.doubtnut.com/l/_VZKYfBIqsuzw
https://dl.doubtnut.com/l/_Hqgr9GrZ796J

93.In the figure

P C B Q

—~= 1= ABCDE is
any pentagon. BP drawn parallel to AC meets DC produced
at P and EQ drawn parallel to AD meets CD produced at Q.

Prove that : ar(ABCDE) = ar(APQ)

° Watch Video Solution

94. If the medians of a A ABC intersect at G, show that

ar(AGB) = ar(AGC) = ar(BGC) = 1/3'ar(ABC)



https://dl.doubtnut.com/l/_QeYpcLlgqWZF
https://dl.doubtnut.com/l/_RYlUneMoCqAm

| o Watch Video Solution

95. In the figure

Q

— X and Y
are the mid-points of AC and AB respectivley, QP||BC and
CYQ and BXP are striaght lines. Prove that ar(ABP) =

ar(ACQ)

o Watch Video Solution



https://dl.doubtnut.com/l/_RYlUneMoCqAm
https://dl.doubtnut.com/l/_br7NqXRbOcMn

1. In the figure. Show that ABCD is a parallelogram.

D S5ecm L

-

—

A 3 om L Calculate

the area of ||gm ABCD.

° Watch Video Solution

2. Find the area of a rhombus whose diagonals are of

lengths 10 cm and 8.2 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_Za18SwOojoFA
https://dl.doubtnut.com/l/_1EaihBq6DAeg

3. Calculate the area of trap. PQRS, given in the figure.

g 8ecm R
H '
L]
i
1
1
|
I
i
]
]
i
i
]
- J
P B cm T

° Watch Video Solution

4.In the figure. ABCD in a trapezium in which AB||DC. Proe

that ar( A AOD) = ar( A BOC)


https://dl.doubtnut.com/l/_1EaihBq6DAeg
https://dl.doubtnut.com/l/_WVK6g0hIAxQo
https://dl.doubtnut.com/l/_AbOp6MreEoR4

£ _ .

o Watch Video Solution

5.In a quad. ABCD it is given that BD=16 cm. If AL | BD
and CM 1 BD such that AL=9 cm and CM =7 cm, then

ar(quad. ABCD) =?

° Watch Video Solution



https://dl.doubtnut.com/l/_AbOp6MreEoR4
https://dl.doubtnut.com/l/_47pOzDjzzLbZ

6. ABCD is a parallelogram whose diagonals intersect at E.
AC is produced to F such that CF = AE Prove that ar

(ABDF)=ar (| | gmABCD).

o Watch Video Solution

7.ABCD is a parallelogram whose diagonals intersect at E.
AC is produced to F such that CF = AE Prove that ar

(ABDF)=ar (| | gmABCD).

o Watch Video Solution

8. P and Q are respectively the midpoints of sides AB and

BC or a triangle ABC and R is the mid-point of AP, show


https://dl.doubtnut.com/l/_YT0cRQsanvEm
https://dl.doubtnut.com/l/_s4ovX4Ws6cII
https://dl.doubtnut.com/l/_iesodtuWtD4P

ar(PBQ)=ar(ARC).

° Watch Video Solution

9. P and Q are respectively the midpoints of sides AB and
BC or a triangle ABC and R is the mid-point of AP, show

ar(PRQ)=% ar(ARC).

o Watch Video Solution

10. P and Q are respectively the midpoints of sides AB and
BC or a triangle ABC and R is the mid-point of AP, show

ar(RQC) = % ar(ABC).

° Watch Video Solution



https://dl.doubtnut.com/l/_iesodtuWtD4P
https://dl.doubtnut.com/l/_M1Qds6XVA7pP
https://dl.doubtnut.com/l/_JtPI12b3EKgQ

1. In fig. ABCD and AEFG are two parallelograms. If

/C = 55° and determine ZF

n - C

G F
i ™

| =f I

° Watch Video Solution

12. ABCD and AEFD are two parallelograms Prove that:

ar( A APE):ar( A PFA) = ar( A QFD):ar( A PFD)

o Watch Video Solution



https://dl.doubtnut.com/l/_GsRNfDkftfxP
https://dl.doubtnut.com/l/_lOmCLgp0P5Le

13.In Fig.

Q

ABCD is a parallelogram. Prove that ar (AACP) = ar

(ADPQ).

° Watch Video Solution



https://dl.doubtnut.com/l/_0lUMAMBpdvDk

14.In A ABC, it L and M are points on AB and AC

respectively such that LM||BC. Prove that :

ar( A LCM) = ar( A LBM)

o Watch Video Solution

15.In A ABC, it L and M are points on AB and AC

respectively such that LM||BC. Prove that :

ar( A LBC) = ar( A MBC)

o Watch Video Solution

16. D and E are points on sides AB and AC respectively of

AABC such that ar (DBC) = ar (EBC). Prove that DEIIBC


https://dl.doubtnut.com/l/_tPTYIxMVO7PE
https://dl.doubtnut.com/l/_GM0rxSXZAaSW
https://dl.doubtnut.com/l/_VVEOWHE1yj4k

o Watch Video Solution

17. D and E are points on sides AB and AC respectively of

AABC such that ar (DBC) = ar (EBC). Prove that DEIIBC

o Watch Video Solution

18. ABCD is parallelogram. X and Y are the mid-points of BC

3
and CD respectively. Prove that ar (AAXY) = g


https://dl.doubtnut.com/l/_VVEOWHE1yj4k
https://dl.doubtnut.com/l/_KQtuNXcqZWX0
https://dl.doubtnut.com/l/_7njyXbGzKVav

(| |)*™ABCD.

o Watch Video Solution

19. PQRS and PABC are two parallelograms of equal area.

Prove that QC | | BR

o Watch Video Solution



https://dl.doubtnut.com/l/_7njyXbGzKVav
https://dl.doubtnut.com/l/_6u9WDJHQEC4L

20. Two parallelograms ABCD and AEFB are drawn on
opposite sides of AB. Prove that ar( | | gmABCD) +

ar( | | gmAEFB)=ar( | | gmnEFCD)

o Watch Video Solution

21. A man who had a plot in the shape of a parallelogram
divided it into three equal parts and gave one-thrid part
ot his son which again was in the shape of a
parallelogram. The son seeing that there was no school in
the village ecides to open a school there. Answer the
following questions:

Show how could this decision of the man be implemented.

What part did the son get? Explain with figure.

| o |


https://dl.doubtnut.com/l/_FN5tQFOpeB52
https://dl.doubtnut.com/l/_XsfYfaXxcBjw

| & Watch Video Solution ]

22. A man who had a plot in the shape of a parallelogram
divided it into three equal parts and gave one-third part
to his son which again was in the shape of a
parallelogram. The son seeing that there was no school in
the village he decides to open a school there. Answer the
following questions:

Was the son's decision right?

o Watch Video Solution

23. A man who had a plot in the shape of a parallelogram
divided it into three equal parts and gave one-third part

to his son which again was in the shape of a


https://dl.doubtnut.com/l/_XsfYfaXxcBjw
https://dl.doubtnut.com/l/_9OEQZWpn3UJm
https://dl.doubtnut.com/l/_sBLzke3U0WTi

parallelogram. The son seeing that there was no school in
the village he decides to open a school there. Answer the
following questions:

Was the son's decision right?

o Watch Video Solution

24. In a class, the teacher gave two simiar cardboard
pieces which are in the shape of parallelogram to two
groups. First group was asked find area of
parallelogram,having AB as base. Another group was
asked to find the height (h) of parallelogram having AD as

base.


https://dl.doubtnut.com/l/_sBLzke3U0WTi
https://dl.doubtnut.com/l/_abm0BFew2HRA

x
%
]
]
[ |
i
: S CIm
[ |
i
|
R,
L B
L]
. What

values are depicted?

o Watch Video Solution

25. In a class, the teacher gave two simiar cardboard
pieces which are in the shape of parallelogram to two
groups. First group was asked find area of
parallelogram,having AB as base. Another group was

asked to find the height (h) of parallelogram having AD as


https://dl.doubtnut.com/l/_abm0BFew2HRA
https://dl.doubtnut.com/l/_D0jPj0xiknNH

base.

I B R R mm e e -

I
i
i
1
i
i
'
'
i
'
[
I
I
L

b
— < ban What

values are depicted?

o Watch Video Solution

26. If ar(||gm ABCD) = 252cm?, then find the area of

AN ADB?

0 Watch Video Solution



https://dl.doubtnut.com/l/_D0jPj0xiknNH
https://dl.doubtnut.com/l/_U7Af5Y9DIDFM
https://dl.doubtnut.com/l/_Tz6FmD2MmXrk

27.In the figure.

. E
& cn ———
+--_--. -—-l--I'I'I"I ﬂF = '?.fPQRSlsa”

gm. Find the value of y.

o Watch Video Solution

28. If the length of the diagonal of a square is 8 cm, then

find its area.

| o Wiak h \iAAA Caliikian



https://dl.doubtnut.com/l/_Tz6FmD2MmXrk
https://dl.doubtnut.com/l/_1uxRVqTbigea
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29. The figure obtained by joining the midpoints of the

adjacent sides of a rectangle of sides 8cmand 6 cmis :

o Watch Video Solution

30. If the area of a parallelogram ABCD is 30cm?, then find

the length of altitude AQ?
-
A £

/ o

v/

/

0 P4—10an—,C



https://dl.doubtnut.com/l/_1uxRVqTbigea
https://dl.doubtnut.com/l/_upKJCOvBuT7N
https://dl.doubtnut.com/l/_RUylS5z9DCEo

I ° Watch Video Solution

31.In the figure.
O -

A M B

ABCD is a
|lgm and DN | AB. If AB = 10 cm and DN = 4cm . Find

ar(|/|gm ABCD) are ar( A ABD)

° Watch Video Solution

32. ABCD is a rhombus AC = 8 cm, and DB = 6 cm. Find the

length of BC.


https://dl.doubtnut.com/l/_RUylS5z9DCEo
https://dl.doubtnut.com/l/_wnfFilSj6C5M
https://dl.doubtnut.com/l/_PWbnB1Ydtm47

o Watch Video Solution

33. If ABC and BDE are two equilateral triangles such that
D is the midpoint of BC, then find

ar( A ABC):ar( A BDE)

° Watch Video Solution

34.Pis any point on base BC of A ABC and D is the mid-
point of the BC. DE is drawn parallel to PA to meet AC at E.

If ar( & ABC) = 12cm?, then find area of A EPC

o Watch Video Solution



https://dl.doubtnut.com/l/_PWbnB1Ydtm47
https://dl.doubtnut.com/l/_d7YScsPY8a4Y
https://dl.doubtnut.com/l/_KFQ2ISgWhLeZ

35. PQRS is a rectangle inscribed in a quadrant of a circle
of radius 13 cm. A is any point on PQ. If PS =5 cm, then ar

(PAS) = 30cm?.

o Watch Video Solution

36. True/False

Area of || gm= 3 base x corresponding height.

o Watch Video Solution

37.True/False
If the area of a || gm with one side 24 c¢m and

corresponding height h cm is 192em?, then h =16 cm.



https://dl.doubtnut.com/l/_ubpFd5kvPm9f
https://dl.doubtnut.com/l/_0hm37ngV17hK
https://dl.doubtnut.com/l/_PO84IZ1vohA1

o Watch Video Solution

38. True/False
If the diagonals of a rhombus are 14 cm and 18 cm, then

its area is 126¢cm?>

° Watch Video Solution

39. Parallelogram on equal bases and between the same

parallels are equal in area.

o Watch Video Solution



https://dl.doubtnut.com/l/_PO84IZ1vohA1
https://dl.doubtnut.com/l/_k0P8ckWmNauj
https://dl.doubtnut.com/l/_jwg0w8BtaORl

40. True/False
Two parallelograms are on the same base and between

the same parallels. The ratio of their areas is 1:2.

o Watch Video Solution

41. ABCD is a parallelogram and X is the mid-point of AB. If

ar (AXCD) = 24cm2, then ar (ABC) = 24cm?.

o Watch Video Solution

42. True/False

If AD is the median of A ABC and P is a point on AC


https://dl.doubtnut.com/l/_az2pb1Y37pSO
https://dl.doubtnut.com/l/_fF2ZZvPJexUE
https://dl.doubtnut.com/l/_1WyUQxGAesb5

such that ar( A ADP):ar( A ABD) = 2:3, then

ar( AN PDC):ar( AN ABC) =1:3

o Watch Video Solution

43.True/False
Ina A ABC, D, E, F are the mid-points of the sides
BC,CA and AB respectively. If ar( A ABC) = 16cm?, then

ar(trap FBCE) is 8cm?

o Watch Video Solution

44.True/False
AB,C,D are mid-points of sides of ||gm PQRS. If ar (PQRS) =

36cm?, then ar (ABCD) = 18cm?


https://dl.doubtnut.com/l/_1WyUQxGAesb5
https://dl.doubtnut.com/l/_T6c8CBiYtrfD
https://dl.doubtnut.com/l/_3qx30NJiKTFl

o Watch Video Solution

45. ABCD s a trapezium in which AB||CD and AD=BC

A B"‘:'E-F-

Show that: /A = /B

o Watch Video Solution

46. Fill in the Blanks:

If R; and R» are two congruent regions, then area of R;



https://dl.doubtnut.com/l/_3qx30NJiKTFl
https://dl.doubtnut.com/l/_lU3dqPtePL5G
https://dl.doubtnut.com/l/_lZpF6TlFvhKZ

is are of R,

° Watch Video Solution

47.Fill in the Blanks:

A diagonal of || gm divides it into two triangles of

area.

o Watch Video Solution

48. Fill in the Blanks:

Parallelogram on the base and _ the same

parallels are equal in area.

0 Watch Video Solution



https://dl.doubtnut.com/l/_lZpF6TlFvhKZ
https://dl.doubtnut.com/l/_8zqvIl2BN9m2
https://dl.doubtnut.com/l/_XgL2nQo0Ol4w

49.Fill in the Blanks:
The area of || gm is equal to the product of any of its sides

and _____altitude.

o Watch Video Solution

50. Fill in the Blanks:
Ratio of areas of a triangle and a ||gm sharing the same

base and between the same paralleles is

o Watch Video Solution

51. Fill in the Blanks:

Area of triangleis _ the product of any of its sides


https://dl.doubtnut.com/l/_uzLTsAXJTLqd
https://dl.doubtnut.com/l/_J64Qj92uTwtU
https://dl.doubtnut.com/l/_SeTyO4icBg33

and corresponding altitude.

° Watch Video Solution

52.Fill in the Blanks:
Triangles with equal area and having any side of one equal

to any side of the other have equal corresponding

o Watch Video Solution

53. A diagonal of parallelogram divides it into four

triangles of equal area.

° Watch Video Solution



https://dl.doubtnut.com/l/_SeTyO4icBg33
https://dl.doubtnut.com/l/_Q4RW8TWewHSq
https://dl.doubtnut.com/l/_HjCTvJAoddSP
https://dl.doubtnut.com/l/_Xy6dzy7USpWs

54.Show that the line segments joining the mid-points of

opposite sides of a quadrilateral bisect each other.

o Watch Video Solution

55. Fill in the Blanks:
The ratio of area of rectangle and a triangle sharing the

same base and between thesame  is 2:1

o Watch Video Solution

56. The median of a triangle divides it into two

A. triangles of equal area

B. congruent triangles


https://dl.doubtnut.com/l/_Xy6dzy7USpWs
https://dl.doubtnut.com/l/_50qEzbkhwL9q
https://dl.doubtnut.com/l/_catgNIcU5PXt

C.right angles

D. isosceles triangles

Answer:

o Watch Video Solution

57. Two parallelograms are on equal bases andbetween

the same parallels. The ratio of their areas is

Al:2

B.1:1

C.2:1

D.3:1


https://dl.doubtnut.com/l/_catgNIcU5PXt
https://dl.doubtnut.com/l/_hYI6DQNQpDAw

Answer:

0 Watch Video Solution

58. The median of a triangle divides it into two

A. congruent triangles

B. right triangles

C. isosceles triangles

D. triangles of equal areas

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hYI6DQNQpDAw
https://dl.doubtnut.com/l/_vkZHRYAeg0iH
https://dl.doubtnut.com/l/_isNUxEqHMAiH

59. ABCD is a parallelogram. P is any point on CD. If

ar( A DPA) = 15cm? and ar( A APC) = 20cm?, the
ar( AN APB) =

A1) 20cm?

B.2) 15¢m?

C.3) 35¢cm?

D. 4) 30cm?

Answer:

o Watch Video Solution

60. The figure obtained by joining the midpoints of the

adjacent sides of a rectangle of sides 8cmand 6 cmis :


https://dl.doubtnut.com/l/_isNUxEqHMAiH
https://dl.doubtnut.com/l/_Uxf4qSPEboFk

A.a rhombus of area 24cm?
B. a trapezium of area 14cm?
C.a square of area 26¢m?

D. a rectangle of area 24cm?

Answer:

o Watch Video Solution

61. In trapezium ABCD AB | | DC. If ar (AOD) = 15¢cm?

then ar (BOCQ) is :


https://dl.doubtnut.com/l/_Uxf4qSPEboFk
https://dl.doubtnut.com/l/_a2WeGs7E8ELx

A.3cm

B.6cm

C.4 cm

D.8cm

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_a2WeGs7E8ELx

62. The lengths of the diagonals of a rhombus are 10 cm

and 8.2 cm .Its area will be :

A.192cm?

B. 64cm?

C. 96cm?

D. 80cm?

Answer:

o Watch Video Solution

63. In a quad. ABCD it is given that BD = 16 cm. If

AL | BD and CM 1 BD such that AL=9 cm and CM =


https://dl.doubtnut.com/l/_uopWj9BND5II
https://dl.doubtnut.com/l/_vi4x0jGnbnbk

7 cm, then ar(quad. ABCD) = ?

A. 64cm?

B. 128¢cm>

C. 256¢cm?

D. 96cm?

Answer:

o Watch Video Solution

64.1n a ||gm ABCD, if P and Q are mid-points of AB and CD

2

respectively and ar(||gm ABCD) = 16¢cm”, then ar(||gm

APQD) = ?


https://dl.doubtnut.com/l/_vi4x0jGnbnbk
https://dl.doubtnut.com/l/_zwoqu5z6oKy5

A. 12¢m?

B. 8cm?

C. 6ecm?>

D. 9cm?

Answer:

o Watch Video Solution

65. The median of a triangle divides it into two

A. triangles of equal area

B. congruent triangles

C.right angles


https://dl.doubtnut.com/l/_zwoqu5z6oKy5
https://dl.doubtnut.com/l/_l2ol8pJcTPxy

D. isosceles triangles

Answer:

o Watch Video Solution

66. The mid-point of the sides of a triangle along with any
of the vertices as the fourth point make a parallelogram of
area equal to
1
A. Ear(ABC)
1
B. gar(ABC)
1
C. Zar(ABC)

D. ar(ABC)


https://dl.doubtnut.com/l/_l2ol8pJcTPxy
https://dl.doubtnut.com/l/_dUsuFBOufQ5c

Answer:

0 Watch Video Solution

67. Two parallelograms are on equal bases andbetween

the same parallels. The ratio of their areas is

A 1l:2

B.1:1

C.2:1

D.3:1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dUsuFBOufQ5c
https://dl.doubtnut.com/l/_bKqDmoqWrTh7

68. ABCD is a quadrilateral whose diagonal AC divides it

into two parts, equal in area, then ABCD

A.is a rectangle

B. is alwys a rhombus

C.is a parallelogram

D. All of the above

Answer:

o Watch Video Solution

69. If a triangle and a parallelogram are on the same base

and between same parallels, then the ratio of the area of


https://dl.doubtnut.com/l/_PwE3tP98hooJ
https://dl.doubtnut.com/l/_u14ZSMx2nVaC

the triangle to the area of parallelogram is

Al:3

B.1:2

C.3:1

D.1:4

Answer:

° Watch Video Solution

70. A ABC- A\ PQR. If
ar(ABC) = 2.25m?. ar(PQR) = 6.25m?, PQ = 0.5m,

then length of AB is


https://dl.doubtnut.com/l/_u14ZSMx2nVaC
https://dl.doubtnut.com/l/_LeWlF5B67POl

A.30 cm

B.1.5cm

C.50cm

D.2m

Answer:

o Watch Video Solution

71.1f AN ABC~ A DEF,BC =4 cm, EF = 5 cm and ar

( A ABC) = 80cm?, then ar( A DEF)is

A. 120cm?

B. 125¢m>


https://dl.doubtnut.com/l/_LeWlF5B67POl
https://dl.doubtnut.com/l/_xbBk9kzIyjnv

C. 15cm?

D. 200cm?

Answer:

o Watch Video Solution

72. The area of two similar triangles ABC and PQR are
25cm?, 49em?. If QR = 9.8 cm, then BC is

A.9.0cm

B.7 cm

C.49cm

D.41cm


https://dl.doubtnut.com/l/_xbBk9kzIyjnv
https://dl.doubtnut.com/l/_T9rpCe7wL6zL

Answer:

0 Watch Video Solution

73.What is the area of an equilateral triangle whose sides

is 'a'?
2
a
A 3—
2
3a?
2
3a?
4
D. 3a>
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_T9rpCe7wL6zL
https://dl.doubtnut.com/l/_Af9aJKneOTQp

74. Tick the correct answer and justify : Sides of two

similar triangles are in the ratio 4:9. Areas of these

triangles are in the ratio

A2:3

B.4:9

C.81:16

D.16: 81

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NnuPoRz1Yfcb

75. In the figure, find the area of ||gm.

W] I

o Watch Video Solution

76. Two parallelograms are on equal bases andbetween

the same parallels. The ratio of their areas is

o Watch Video Solution



https://dl.doubtnut.com/l/_cvoAWS2BupOu
https://dl.doubtnut.com/l/_ZnKfaexg2eyB

77.In figure.

D and E
are the mid-points o sides. AB, AC respectively of A ABC

JAfar( A ABC) = 256cm?, then find ar( A BDE)

o Watch Video Solution

78. ABCD is a trapezium in which ABJ||DC, DC = 30 cm and

AB =50 cm. If X and Y are, respectivley that mid-points of

AD and BC, prove that ar(DCY X) = gar(XYBA)

o Watch Video Solution



https://dl.doubtnut.com/l/_pS1pHiNUxpss
https://dl.doubtnut.com/l/_hx9KNbuhuMbR

79. AP||BQ||CR. Prove that ar(AQC) = ar(PBR)

A P

o Watch Video Solution

80. ABCD is parallelogram. X and Y are the mid-points of

3
BC and CD respectively. Prove that ar (AAXY) = ikl


https://dl.doubtnut.com/l/_hx9KNbuhuMbR
https://dl.doubtnut.com/l/_YOGWlvZrtOvu
https://dl.doubtnut.com/l/_YNjHranO7a5H

(| |)*™ABCD.

o Watch Video Solution

81. If the medians of a A ABC intersect at G, show that

ar(AGB) = ar(AGC) = ar(BGC) = 1/3%ar(ABC)

o Watch Video Solution



https://dl.doubtnut.com/l/_YNjHranO7a5H
https://dl.doubtnut.com/l/_sCCIbulLPlcs

82.PQRS is a ||gm. L is any point on PS and M is any point
on QR. Show that:

ar( A QLR) = ar( AN QPM) + ar( A SRM)

o Watch Video Solution

83.PQRS is a ||gm. L is any point on PS and M is any point
on QR. Show that:

ar( A QLR) = ar( A QPM) 4 ar( A SRM)

o Watch Video Solution



https://dl.doubtnut.com/l/_Y4A59Ggs2rrG
https://dl.doubtnut.com/l/_ACdCMRRVIYsw

